INTEGRATIONSTEORI (5p)

(GU[M AF440] ,CTH[TMV'100])
INLAMNINGSUPPGIFT 2

Sista inldmningstid: Fredag 5 december kl 15.

1. (1dp) Suppose E C R and E ¢ R~. Show there is an € > 0 such that
m(B\ A) > ¢
if ACEFCBand A, BeR".
2. (2dp) Let (X, M, u) be a positive measure space and f : X — [0,00] an
(M, Ry 00 )-measurable function such that
FIX)CN

and

/de,u<oo.

For every t > 0, set

F(t) = p(f > 1) and G(t) = p(f = 1).
Prove that
[ Fdn = T2 F (n) = S2,G(0).
(Hint: Write f = 35° X (r=n}-)

3. (1dp+1dp) Compute the following limits and justify the calculations:
a)
_ % sin(e”)
A, o 1+naz

b)
lim [ (14 5)7" cos zd.
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